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Directions for the following 3 {throe) ftema :
Read the following two passages and answer
the ems thai follow the passages. Your
anawers I these itnma should be based on

the pansiges anly.

‘Passage—1

The main threat fo maintaining progress
in human development  comes from  the
increasingly  evident  unsustsinebility  of
production and comsumption pattarna. Curmont
produntion models rely heavily on fooll fuzis
We now. koow thal this & unsosiainable
bBecauhe the reistrcan ard fnile, The clone Hnk
emisglune needs o e seversi] for human
development to Yesome truly sustainabile. Some
developed countries have begun to allevinge the

wonrsl effects bw. expanding rmecyoling and

investing 1 public transport and  infra-
sirvciure. But most developing dolniries ard
hatimpered b thie high coste and low avaitisbility
of clean energy sources. Developed eouniries
nesd 10 support develaping countries’ transition
to- sustaifable human development.

L Umsuntalombility In production pattem
in due to which of the fullowing?
I Heawy dependence on fossil fusls
2. limited availnhility of resources
i Expunmon of reoyoling
Select the corréet ansier Using the code
wven below.
fal’ 1 find 2 only
i} 2 oy
& 1 mnd 3 wnly
fdl 1,2 and 3

VGYH-P-CST/46A

2. Consider the followthp statements -

Dewloped  countres  can wupport
developmg countrien” tranainon
sustsinable human dovalopment by

J. making clean  oNErEY SOUNCEs
nealluble ol oo coal

2. providing

Ianis . for improving
their public transpart at nominal
mitarent rmtes

3. encoursging  them b chiange
thedl produdtion and constamption
paflstna

Which of the staterners givan . abovn

infnre pormoct?

fu} Fenly

fhl 1 and 2 only

fe) 2 and 3 omly

e 1.2 and 3

Passape—2
Unlesa the forces and tendencies which are
responaible for destroving the cousiry's
environment are chedked in the' nenr fubane
and sfforestntion of donuded wreas io fleen ups
an & masyive sesle the harshisess of e
climatic conditions nod woll ermion by wind
and water will incrodass 16 wuch an exient
that agnoulture, which ta the msmetay aof oor
poople, will pradually. become imposnibie. The
dessil | eotintries (of ‘the world ind our own
desert’ areas Hy  Rijusthin see & grim
reminder of the bonsequendes of larpe-scale
deforestation. Pockets of desert-like lundsnpe
e now appeating i other parm of the

| P T.0,
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X w1 9F v BT

fa} 105

&) 120

i) 150

i) 225

VOYH--CET/46A

5. Tl uree-T S Wl ABCDEFRG B, feg

e aff o @ oA, s el fed
firs si% (¥ 1, 2, 4, 5. 7, 8, 9) 9
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fef 8
fy 9
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fd] 13

6. @ fm x e vdoem g = B i 3 ww

50 m W TH B fEm { dwoow e ow
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ywnl g 40 m dgm ¥ oy oae o]
HER 50 m EELEE T ¥, wwE Y=
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country (ncluding the Sutlel-Ganga Plainn and
the Deccan: Plateau, Where onty o fow decades
Back thete used to be lush green forents with
perenninl streatma and springs, therd o ondy
brovwr' sarth, bare of vegatation, withou! any
waler (n the streama and springs exoept in the
raifly scason,

3. According to the pamige given above,
defprestation’ amd  denudation  wall
ultunately, lend o which of the
Jallowing?

1. Depletion of il resource

2. ‘Shortagr of and for the common
i

3. Tack of water for eulthimtion

Select the currect answer using the code
given below.

f) 1 and 2-anly
b} 2 and 3 only
#) 1 and 3 dnly
fl 12 and 3
4, What in the value of X in the sequence
20,10, 10, 15,30, 75, X?
fa) 105
i) 120
fed 150

fcf) 245

VGYH-D-CST/46A

5. An ldentity Card has the number

ABCDEFG, not neceasarily in  that
order, where each letier represonts
a distinct dight (1, 2, 4. 5, 7, 8, 9 only),
The number w diasible by 9, Aftar
deleting the fret digit from the right,
the reanlting namber (s diviaible by 6,
After deleting two digite from the nght of
original number, the resulting numbar
in divisible by 5. Aler deleting thiee
digitn from the nght of original number,
the resulting number i divisible by 4,
Aftnr dolnting four  digils from: the
right of original pumber, the resulting
number is dongible by 3. After dedetins
five digita fmm the nght of ongnat
mumber, the rTesulling: number iw
divisible by 2. Which of the following
in & posgible value for the sum of the
middie three digite of the aumber?

fal B

by &

feh 11

() 12

6. Two ferda X and ¥ ostart running snd

‘thiny run tagethier for 50 4 in the same
directlon &nd reach a point X turese
rlght and ' fane 60 'm, whils ¥ tarnis left
ind runds 40 m. Thea X torme lefl abd
runn 50 M end stope, while ¥ tome
pight and rims 500m 'amd then! stops.
How far are the two iriends rom dach
othet now?
fa) 100 m
(bl %G m
2 60 m
fef) 50

| P10,
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7. mmhﬂu of June 209% amang the 9. Which number amongst iﬁ. ﬁﬂi 48

fallowing ta Sunday? and 8'% in the amaliest?
oy 4 fa) 240
w5
Il 6
W 7 I
8. A bill for C1,BA0 in paid In the fd B4

denominations of 50, F20 and ¥10
noten. 50 noted in all are lised . Coniider
the follawing wisirmenis _ 1
10. The digits 1 to 9 are armanged In three

I. 25 notes 5 ¥50 are uned mnd the rows fn such a way that esch row
ratnaining are in the denomtinaticns containe thiee digits, and the simber
uf ®20 and #10. formed in the secomwd mw is twice the

numiwer formed in the first row; and the
mumber farmed in the thind rew s thrioe
the number frmed in the first row,
Repetition of digits is not allowed. [T only

Z. 35 moien of ¥30 arp ueed and the
of ¥50 and ¥ 10.

3. 20 notts of 10 are tsed and the three of the four digits 2, 3. 7 and 9 are
remaining are in the dénominations allowed to use in he first row. how
of 50 und P20, many. wuch combinations are posnible

o by aranged in the thres rows?
Which of the nhove statemenis ace not

coryect? fez)) 4
f, 1 and 2 only B 3
fbj 2 and 3 only

e} 2

il 1 and 3 only

fd) 1, R-and 3 ) 3

VOGYH-D-CST/48A 7 | P10,
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mﬂmmm_m*{hﬂm;

Ezod the fitivwing teo passapes und angeer
the ftems that follow (the phassagrs. Your
Answers (o these jtems whould be based on
the passages oniy.

Pasaage—1

“in simple mattera like ahod-maldng, we think
only & specmlly trained person will serve our
purpane, but in politics;, we. presame  tht
svervane who known how to get votes knows
how 1o admimster a4 Sture When we are i,
we eall for u tralned physician, whose deires
is a guaraniee of specific preperstion and
techoics] competonce—we do not aak for the
handsomest physician, or the meost eloguent
one - well then, when the whole Staw s i
sheild we not lool for the service sod guidance
ol the wisest and the 'ha-'l?'

11, Which ene of the fullowing stsiemernts
best seflects the mexsage of the author
of the pnesage?

ft) We anpume. that m a democracy,

wry  palitician s qualified W
gdminister s State.

fbl Pohncipna should be selected from
those trained in admninistration,

fol  We need o devise & method of
harring thcompeietice from piibilie
aflice. '

{dj Aa wvoterw select their mdmins-
tmtars, the alighility of politicians
te administer a Stale cannot be
Cpuasntiened.

VOYH-D-CST/ 404

Pasnage—a
The poverty lme s quite unsatisfacticy when
it comen fo gresping the extent of poverty, in
India. It In not only because af its extremely
nerruw definition of Who i poor’ and the
debatnble methodelogy ysed to coumt the
poar, bt alao because of & more fundamental
assumption undeclving it 1t exchuaively rmlids
¢m the notion of poverty as msulMchent noome
ar wmsufficient purchaning powsr. Obpe can
better categorian it by calfing it income peverty.
Il poverty 6 wltimmtely about deprivations
affecting  humun  well-being. thes  ncome
poverty in only one sepett of [U Poverty of u lifs,
i our view, lled riot merely in the Impdverished
mate in which the person actually lved, but
alss in the Inck of real opportomity given
by wsocial constrRinte as well as  permomal
cimumatunces—to choone ather types of living.
Even the releennies of law inceties, mesgre
prasesalons, snd other sspectn of whit g
standandly sten as ecanomlc povesty relnie
ultimately o thetr mile in curtsiling capabilitics,
e, their role in severely reatricting the choicos
people have to lead vareble and valoed fives.

12. Why is the methedology adopied o India
to eatint the ‘potr’ debatuble?

fa} There in some confusion regarding
wimt ahould conefitute the ‘poverty
Tiiee'

{b] There are wide diversities in (he
comdition of the yom! and urban
oo,

fef There it no  uniform  globel
stendand for messuring moome
poverty,

i) It i based on the proposition of
poverty us mesgre income or
buying capackty.

[PTO.
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13. Why 8 income podiarty only one meastre

of sounting the ‘poor’ 2

fa) it talle of only ome kind of
deprivation nonng ull athera,

M) Other deprivations (o o humean 1ife
have ‘nothing 1o do with lack of
purchitaing potwer,

iy Income poverty W not a permanent
condition, 11 changeas from tme to
time.

i) Income  poverty restricta  human
cholees only sl & :thﬂ Iftimr

14. What does the suthor mean by ‘paversy

af.a e

fal All deprivations i & humsn life
which stem not only from Inck
of income but lack of real

fl)  Impoverinhed atale of poor people
in rural and urban areas

fel Miesed opportunitiss in diverse
peraonal circumstances

fd} Materia! na well na pon-muaterial

 deprivutiens  in & human  life
which restriet huthan  chalces
prnﬁmn.ﬂy

VOYH-D-CST /484

11

15, Xand ¥ run A 3 ke race along & circular

coitre of Jength 300 m. Their speects
are in the matio 3:2 If they star
thgether in ihe mame ditection, how
mnny times would the firsl one pamm
the ather (the start-off & net counted
unpuillnl_]?

fa). 2
fhy 3
el 4

fl. &

16. If the onder of the lotters in the English

alphithet i reverond and esch letter

representn the letter whose positon
tt oopupien, them which one of the
following represents LUCKENOW?

fa) GOXPMLD
(b GOXQMLE
fol OFXFMLE
() OFXPMLD

|| T.0,
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A7. I A toumament of Chess having 19. Cannider the Question  and  two

150 entrunts, & player bs sliminated Statementa given below -
_whenever he loses a mutch. It s ghen . !
that no match results in w te/dww. Questim : In x an Dlogss?

How muny matches are played in the

ks o Statemeni—1 - x /3 ia nol =n integer.

Statement-2 © 3z bs an infeger.

fay . b5l Which 'one ol the fallowing ia correel
in' respect of the Quention and the
Statemnenta?

b 150

f) Stmpment-1 afone is suficient to
wnmwer the Question
o 149 _ .
' fb) “Statement-2 slone Iv sufficint o
snwwer the Quostion

e 249 fr). Both Stuieineni-1 and Statement-2

are  suffiient to anewer the
Quention
(il Bath Statement-1 and Statrment=2

are mot safficiont o anawer he
Cranntion

18, How many 3.digd satural mumbers
{without repetithm of digita) are there
much that cech dught W odd and the
number s divinible By 52

20. The Increase in the piice of a certain Hem
wus 25%, Then the price was (ecressed

o) H by 0% mnd then agaln (fcrensed by
10%. Whint 18 the resultant increass in
the prfce?>

b 12
fr] 5%

o o 1
el 12-5%

] 24 fll  15%

VGYH-D-CET/46A 13 | P,
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Hhﬂﬂpﬂhﬁlmatﬂnﬂihnl;

Restd the follswing passage and anwmwer the
frermn thit follow the passese. Your wnawers
to these Hems should be based oo the
passaze only.

Pawsage
In some placen in the world, the productivity of
staples such as rice and whoat has reached
a platean ﬂdlhnrm:hﬂ:ﬂﬂnrhnw
agrochemicals are faising the vidlde Nor s
there much uninrmed lamd 1o thet s suitable
mh:hrnughlurdtrumphngh.llww
temperature continpes (o rise, same places uill
become unsaitabile for farming Application of
tochnology can help overcome these probioms.
Agriculturnl fechmology in changing fast. Much
of this r.-h-n;u is brought sbout by afMient
farmers in the WestfAmericas, feshnigques
developed in the Weest are being adapied in
some pluces 9 makes fropical crops  more
prod ustive, Technology i of Wt use if it is
not adapled. In the dﬂ!lapm; workl, that
applies an much to sxisting fanming techniques
an it does 1o the |niest hdvanced in genetic
modification. Extending 1o the smaltholders
and mhimmﬁrmznﬁtﬂnm&ndhmﬂw
best of today's agnculturml practices, n wuch
simple mntters a8 how much fertilizers 1o spply
and when, would lead to & greatly incrinsed
ovailability of food for humsniy. B would
things like better ronde and storge facilities,
to allow for the carriage of surplusss to markets
nnd-ttd!acl: Wiialnge.

21. Buned on the asbove passage, the
following nsaumptions have been madn -
1. Develupment of agricultural tach.
nalogy s confined to developed
canires.
2, Agricultursl technology 18 not
ndapied in developing countrien.

?ﬁﬂi-mf 46A

Which of the above astimptions in/are
walid?

f) 1 enly
B 3 enly
fo Both | mad 2
d) Neither 1 nor 2

22, Based on the above possage, the
following assumptions have been mindr

L. Poor counries nead to bring about
:ﬁ-.ul: b thelr existing firming
techniguan.

2. Developed couniries have better
infrastructure and they wante less
food.

Which of the nbove nssumptions @=/fare
wnlid?

fa) 1 anly
o) 2 only
fc). Both 1 and 2
i Melther | nos 2

23. Based an  the abown paemmze, the
following assumptions have hesn mnda

l.  Growing enough food for future
gemamtions will be 8 challonge.

2. Corparate lerming is a viable optlon
for fopd security in poor countron.

Which of the ahove assumptionn infars
valid?

fal | onlw

) 2 only

fo}  Bosth | and 2
fd] MNeither | nor 2

[BT.0.
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27. A, B e wmantHhan
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i At il &
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24, The lettoraA, B 0D and E are armnjged

m such u wey that there are exnctly two
letters between A and E How many
such wrrangements are posalble?

12 fh) LB

e 24 fdy 36

25, Conmider he Question  nnd  two

‘Statements given helow |
Ouention : In Z brother of X7

Biatemeni-1 2 X i& a brather o'¥ and
¥ o m brother of £,

X, Y and Z are slblings.

Which ene af the Rillowing in eorrect
in rospert of the Question and the
Hiaiemenia?

Statement-2 -

fa) Sttement—1 alone iy sullicient io
andwer the Cnicsbon

iy Statement-2 alone in sufficient to
anwwer the Quesstion

fej Borh Smtement-1 and Statemant-2
are sufficlEnt f0 #Answer the
Disation

et} Baih Statrmenii-1 and Stefemient=3
mre ot sufficlent 1o anewer the
Cnsewtion

36. Un one side of a 101 Tom long road,

101 plants are planted at squal distonce
from ench other. What is the total
distancs betueen 5 conssrutive planta?

fa) 40 m B 404 m

fei 50 m ) BD:E m

VOYH-D-CET/48A
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AT. A. B end C are throe places such tha:

thmml:l'm:tdﬂtm‘mﬂrnnd:lfmma{
10 B, four differeat roads from B o ©
gnd three different foads frain A o O
In bew meany different ways can one
trevel from A to C uning these moads?

faj 10 iy 13

fel 15 fely 36

28, A has same coinn He gives hall of the

doina mand 2 mord 1o B B gives hall of
the coma and 2 more 1o C Cgives half of
the colns and 2 more to L. The number
of coinn D has now, ks the simallest tho-
digit ‘number. Heow many coins dods A
hisve In the beginning?

fal. 76 fhi 68

fe) &0 W 52

20, In the series AABABCARCDABCDE. .,

which letier appeirs at the 1000k plac=?
O M H

el 1 i J

30. Thive petsons A, B and C are stansding

in A guetde not necessarfly in the satnie
wrder, There are 4 persons between
A and B snd 7 porems between 8
and £ If there are 11 persons ahend of
C mnd 13 belind A whit coild) b
the minimum numbor of | persone 0
the qraue?
fel 22 b om

fo) 33 fill 3B

| PT.0.
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Directions for the following 4 (four] items :

Read tbe jollowing two passeges and answer
the items that follow the passages. Your
ATNWETE tuﬂm#hm:nhu—:ﬂdhehudm
uw:mgumh-.

Pazsage—1

Mutural selection cannot  anboipate  futare
envirommanis on the earth, Therefors, the set of
existing crgaTiams csn never be fully prepared
for snvironmental eatmatrophes that uwealt e,
An outcome of this is the extinction of thove
npecien wWhich dioriot overcome environmental
srversity. This fmilure to survive, in modern
terma, can be attributed to the genomen which
are umable to withetand goological wngaries
ar hiological mishaps jinfectivne, dincases amd
= on) In blological eenlution on the eanh,
extinetioh of species hubnm-mnuurimm
The exrth may presently Mive up to ten milllon
spacics, yet mare than 90% ol species that have

evor lived on the earth are now extingt. Once

agatn, the croabionist dgotdoes  fadl
nﬂ:ﬁnmﬂl}* address why o divine cremtor will
Grsily bother 1o create milllons of species and
then wlow them 1o perish, The Darwinian
explanution for extinct life ls once agein simple,
elejgant dnd al ohed convincing—orghnisine go
extinet ms A function of eovironmental or
blologionl assanlis for which their inheritance
desms  thom iil-equipped. Therefore, the
wrrcalled Dpreinian theory of ovolution in not &
theory at all. Evolution happens—this is a fant.
The mechanismn of evolubion (Darwin propessd
neiural selértion) im amply suppacied by
mcientific deia. Indeed, o date ne single
sonlozical, botanical, geological, palesniologeal,
penstic or  physical evidence han  refuted
ether of the central two main Darwinian idsan,
I relighon is nut taken into considemmtion,

YOYH-=CIT/4986A

i

Darwinian bews are acceptable st like the lawa
proposed by Copernicus, Galleo, Newton und
Einntem—aets of netumal laws thal cxplsn
natutal phenomena in the universe,

A1, According to the pessage, natursl
pelection  cannot  enticipate  future
environments on the uﬂ.’h ax

i, specien not fully propered to. face
the ensmosmental changes  thal
swalt them will faee extinction

all the. existing species Would get
extinet as their penames will not
1. inability of the ganome to withstand
environmental changes woulkd
renult in extinclion

4, extihuting of specles s @ common
fentiire '

Selent the correct anwwar uning the code
given belaw

faj 1.2 and3

) 2, 3 and 4

fgf 1,3 gnd 4§

) 1,2 and 4

32. The passige supgests that Darwinian
theory al evolutlon (s not & theaty ml all
hecouas

fa) Mt does pot salialy the creationtat
doctrine

extnction
anviranmant
assstlis
thete e no evidences ' refits |

existence of organinms s atirbuted
o & crenlor

fle) in n

wnid

functan of
blalogical

B E

[IPT B
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33, With referenice 1o the pisspge, the
foal leri Wi ragrkiomin hiavs beety oade

I. Only specion that  have the
ability to overcame environmental
eatustrophes  will  survive and

2. More than 90% of the specics on
the carth are in the dangrr of
getiing  extinot due W drastie
chaness in the sovironment.

3 Darwins theory explaine nil the
natoml phenomenn

Which of the above sssumptions i) are
voalid?

fal ¥ enly
i 1 &nd 2 only
e 3 only

i 1. 2and 3

Pammage—2

With #tendy economic growth, higher literscy
end Incrensing akill Tevels, the number of
Indisn middle-cluss fumilion has gone up
exponnntially. Dircct tesults of the affence
have been ﬂinn]ﬁ__m tn dictary pattemn and
enery, conaumption keveln, People have moved
1o a higher protem-based disy like ik
producta, fsh and  ieai, all ol which noed
sigrilficantty mote v=ter o prodtce than tereal-
bansed diets Intressing use of electronic and
electric michines/padgets and motor vehiclen
needs more and moTe epnrRy and fenenition af
mnergy necds wainT

VGYH-D-CST/46A

24, Whith ore of the folleesdig statenierits

best milecta the crux of the passage?

i Peopic should be persasded o
continue with the | lrm:lllrll
h‘ﬂll-_r.k.uui corenl- based

(b} Inddia needs to focus on developing
crpacity for more energy gamemation
In the coming years.

RN schinatbainl develaramnty
result inthe change of sultarel and
social behaviour of the penple.

[} Wewier mlnnﬁmﬂm prisitices in
Indla need 1o change dramatically
in the coming ymam.

35, How many seconds in total are there in

x weeks, X days, x hours, x mmutes and
x serpads?

(@) 11560x
b 11581x
o) 6O4860x
) 694861x

35. Pt R S Tand U nre aix members of

n family. R.is the apoust of Q U s the
mother of T and S in the daughter of 11,
Pudaughier ia T and s son is 2 There
mfe twn coliples in the fumily, Which one
of 1he lollowing is corréct?

by Q is the grandither of T
fof @ in the gmndmother of T
ft] R la the mother of P

fiff T i the granddaughior of O

| RTO,
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Wﬁanlﬂnrﬂmﬂnuﬁnnmﬂtwn

Statements given below In respect of
theiée cities P, 0 and R in a State :
Question ;- How far in oy P from

_ ayor
Statement-1 ; City Q'ls 18 ks from
city R
Btatement=2 1 City P in 43 Jon from
city R

Which one of the following s coryect

in teapect of the Question Wnd the

Statementa?

faj Swtement=1 alone n mifficiont to
anawer the Question

(b Bintement-2 dlone s elfficient to
anawer the Question

fe}  Both Statemont-1 and Statement-2
sre suflicient. to  answer the
Crurstion

fd) Both Stateriani=1 gad Saiemen=2
are nol sullicient to angwer The
Chpestinn

38. Two BSmtements followed by four

Conclunions are given helow, Yém have
o tale the Statements 1o be true even
il they soem o he &l wrignce from the
commonly known facte. Read all the
Conclusions und then decide which of
the given Conclusions logically follines/
foliow from the Stements, disregamdmg
the commonly kpown loets ;
Statemoni-1 = All pone Gre boolo.
Blalement=-2 : Nb chailr i8 o penil
Conclusion-1  © All chaire are books.
Conclusion-1i :© Some chams am pens,
Concluwiordll 1 All booka mre chairs,
Conclusion—V © No chair ia a ook
Which ome of the following ks oormrecs?
fa) Only Conelusion-|
fl) Only Conclusion-i
fel  Hoth Condlusion-{1l and
Comelugion-TV
fif] Nome of the Conclunjons fnllows

VOYL-D-CST/46A

39. Three Swmtnments follewed by thres

Concluplons are given, belsw, You have
to tuke the Stetements o' be true sven
if vhey peem to be at vamence from: the
commanly known fecis Read all the
Conelumons and then decide which of
the given Comiclismlons logieally fallown/
follow. from the Siateroents, distegnrding

the commanly known fcts
Stutement-l - Same doiters are
tenchers.
‘Statement-2  : All teagliers are
FnEnesTA
Staternent—3 | : AR engificery arc
iy
Conclusion-1. : Bome stisrtists are
dogtom,
Canclusion-ll : All ngineers are
doctors.
Canélukion=111': Same ‘engineera 'are
dpaiorn.

Which ope of the following ls correet?

fal Only Conclusion-1

M Bnly Conclusion-II

frl 'Both Conclualtin=l ‘&nd
Conclusion-11]

fe} Bolh Conclusinn=1 and
Conclusion-I]

40, Eight students A, B C D, E.F, Gand H

sit arourd a chrealar teble, equidistin
from esch other. facing the centre of the
table, Dot neconsarily in the same arder.
g and D st nelther adjscent to C nor
opposite 1o C. A wits n between £ and D,
and F skl in between Band H. Which

one of the following ts definizely correct?
fr) ' B alte 6 betdeen A'and O

i) C wite opposite o G

fel B sits opposile fo F

fdl: Mone of the above

| P10,
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Dircctions for the following 4 (four) items :
Resd the follswing two passages and anawer
the itema that follow the passages. Your
answers 10 these itema should be besed on
the pagamjpss onby.

Passapge—1
For twn or three ponertions past, evers

Irtrenking nurohers of ndividuals Bave bean)

living ua workees merely, not as human beings.
An sxoessive emount of labour s rale today
in every circle of sgoiety, with the reault that
men's spintual clement camol thrive. He finds
it very difficult o spend hls Hle lelsure m
serious actvitien He dods not weant to thinle
gt he cannot even il he wants to. He secies not
seli-inprovement, hut entertsinment  which
would enabilp him fo be mentally idie and
1o forget his usual activition. Therefore, the
so-called culture of our uge s d:pmdnm
more on cinema than oy theatre, miore on
newspapers, magawined and crime storles than
on serimia lteratune.

41. The passsge s bused on the ides that
fuj mad ihould not Work Terd
(b} the great evil of our up= in
overstrain
() man cannot think well

fd) man cannot care for hin spirtueal
wittlnre

42. Mnn does fiol ssek  sElf-improveretit
hroause he

i) i not intelléctually enpable
fb) has po time to do 8o
fe) i distracted by materialinm

fet} loves’ smunement snd s mentslly
wile

VGYH-D-CST/48A

Pasmage—3

The demogmphic dividend, wiich has begon
in India and i expected to last another few
thecmdes, I & great wtndmdamnunﬂy The
ﬁﬂmnpu;ﬂile dividend id I:.u.ﬁ:ﬁl!fl i:h:'ljirlq in
the working ape population, whith Eonversely
trivany that the selstive rstio of veey young and
very ald will, for a whils, be on the decline.
From the experience of Imiand and  China,
we know that this can be a moliree of enengy
:n.l an enigine of economié growth 'The
demogruphic dividend tends b9 raise a oation's
pavings mie ginée it =ny oaton, It I8 the
workirig sge population that ls the main’ saver,
And since the VISR ™MIS I AT [MPOrTATT
drver of jrowth, this shouid belp elevats
our growth mte. However, the bemellls of
demographic dividend depend on the quality of
the working age population. And this bnplics
bringing Hack the importance of educdtion,
nocquisition of skills and human capiml,

#3. Which of the [ollowing would inuesiably
happen In .  counfry, when the
demographic  dividend has begun o
ummi'

1.  The number af dliterate peapie will
desraus,

2. The mitoof vary old and very young
will decrenss for & Wwhile.

3 Population growth rute will quakiy
'.E.-bﬂk_'-:f

Select the correct answer using the cods
glven below.

iy 1 mnd 3 only
(bl 2 emly

{ef 1 end 3 only
fj 1,3 mnd 3

| BT.0



44, W WS = vl g Beieiee § 3

-4 W B o == b AR

A

1w e el & e a0 @
peft anfle gty w wpd & By ous
sidmnd oo by

3. T R w awn fE o T R
ok wife i wE % o
L

= T T W L T

i IMLmAF2

45, B op, g, X, ¥l 2350 Segm et

et g @ of B

1. X 3 Twr ogw ol 7 8 siw
o 2 3w

2. P ¢F T 21 Fege afd)

3. P Bl Siegw oftd wE 5 o=a
SR O3 W

4. XA ¥ TR 28 A Wi

5 x5 feh Soge widl it 5 =fw
Fegs pA alili

uft srive Feyge @ e eap 2, oA @i

e B o Bl #7

fa) #2600

M) 2400

e P2.360

fd} ¥2330
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46, T = WA 1430 @ e oo e

s S, #E O A W A 1505 ww W
i P Wl 25 T8 wew, we e AR
ST WA 125 T T A, S e
#Am 1600 T AR wogda | R
T 6 et o

m) 10FE R

w5 Tz W

fej 10 FEE TR

iy 5z ek

47, TR X, P VS N A, B, G Iy E

it £ e s ¥ AR A W R e
W W & W T wew ) wen R odaEh,
c o Fel) =t D dmnedl A o, o9
firsfh et & W= W owm o, B R
s 0 wemn o af=oph e posh el
Faw] o e T On, A e
Ferfl Wt wftell =it B om0 Tl
W o Ere W s i)

fa) 147
fb). 150
fe) 294

[} 300



44, With reference to the passsge, which of

the fllowing inferences an be drawm?

1. | Démographic  diwvidend s an
easentin] condition  for a country
to mplily Increase s ccontmis
growth rate,

J. Promotion of higher ediucstion is
an easentind condition fbor a coiintry
for ita tapld ccotamic growth.

Select the correct answer uaing the code
jiven below.

fa} | only

fol @ onky

fe) - Bath 1 and 2

jdl Nedther 1 nor-2

45, Five Fierids P, Q. X, ¥ and 2 purchased

womne  notebooks. The  relevant
mfnrmaticn s glven below @

1, & puchased 85 notcbooks mome
than X did

2 P wnd Q ogether purchased
21 noteboaks.

3. @ purchaped 35 rnolebooks loss
than P did

4, X and ¥ togither purchased
28 notehiools.

5. P purchased 5 notchooks more
thikn X el

T each moicbpok w priced T4, then
what s the total cost of =l the
bk

fa) ¥ 2,600
b F2400
lcf F2360
(i) ¥2.33%0

VOYH-D-CST/46A

#46. A man started from home nt 19:30 hours

nnd drove (o village, armving there when
the village clock indicated 15:15 hourn.
After smying for 25 minutes, he droye
back by = diffrrent outs of length
1135 times the first route ata mie twice
as fast reaching home a1 1600 hours,
As compared to the clock st home, the
village clock in

faj 10 minutea slow
{5 mitutie slow
fes 10 minutes fast

el B mimutes fast

47. A pormon X wanta to distribute somoe

penn among six children A4, B & D, E
and F. Suppose A grin twice the number
of peny received by B, three times that
af C, four times that of B, five timos that
of B and sxox times that of F. What s
tha manimum ounder of pens X ahouid
bay so that the number of pens esch
one gots i pn even nombar?

fa) 147
i 150
) 294

fd) 300

| PT.0,
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4B. Bix permons A, B C D, K and F ure

pitting equidistant from each other
amund a oicular tabie (facing the
conten H'th:hﬂui

Connidier the (uestion and fwo
Suitements given boiow

Quention ; Who i mittng: on the
bmedinte laft of A7

Stiatrinent=1 © Bis sitfing opposite o
C:eand D & usitting
opponite to E,

Stalement-2 : £ ls sitting on  the
immuidiate jeft of

Which one of the fllowing i correct

n respect of the Question and the

Statlementa?

i) Siatemeril-1 alons 8 sufficient 1o

anawer the Chaoanon

b Satement=2 alone s sufficlent t
anmwer . the Questhm

fey  Both Saternent-1 and Statement-2
are  suffitient © answer the
Quuestinn

idl Both Statemeni-1 and Statement-2
are not wafficient to amewer the
Question

49, Conmider  the Question and  two

Bmtemients given below !

Question : What i the age of
Maniatin?

Statement-1 | Manisha s 24 vears
younger thant . her
mother.

Stitement-2 . 5 vears later, the ages af
Marnjsha nnd her mother
will be in the mtio 3:5

VOYH-D-CST/46A

Which anie of the ollowing is correct
i meapect of the Quention and the
Bistnmnnin?

i) Statement-] alone ia sufficent 1o
enswer the (Juestion

b} Statement2 alone is mufitient to
anewer the Question

o) Both Siatement-| and Statement-2
grn  muffclent ta answer  the
Question

(d) Both Statement-1 und Statement—2
ard mot sUllcient O aoswser the
{Juestion

BO, Six lectures A, 8 C D, E and ¥, each

ol sne hour durstion, are scheduled
betweeni 8:00 =.m: and 3:00 pm

Conmider  the Question and  two
B'-Ill'.ltltnllﬁhftn belorw 1

Questiont ! Which lecturs i in the
third period?

Statemnemt-1 ¢ Leeture & bs preceded by
A and followed by C

Statemeni=2 ; There is no lecture afier
ltsetyrre H

Which one of the [ollrwing ia correct

m reapect of the Question =od the

Statemenin?

fa) Satement-1 alone ls sufficlent to
answer the Question

3} Sintement-2 alone s suMicient to
nnwﬂ:u:mmn

{cj Hoth Statement-1 and Siatemeoni-2
are  nuflitient to  &oewer  tho
Cuestion

i Baoth Stniement=1 and Statement=-2
am not suflictent to answer the
Quesiton

| BT.0;
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uirsre—2
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Directions for the following 3 [three) (teme |

Read the followmy two passages and answer
the Hems thal follow the passages, Your
anwwers to these it=ms abould be bamed on

Pazsage—1

n gn cconomic organiation, ailowing maniond
to benellt by the productivity of machines
uhmuld lend to & vety good life of letnure, and
much leisure in apt o0 e tedioun except
to those whi have Inielligent activities and
interests. | a letsured populsbon i o be
bappy, i must be an educated’ population,
and must be educated with a visw to :E;juymmt
s well ma to the divect ussfuliheésa 'of techmlcesl]

knnwledge.

§1. Which of the following statementn best
reflects the underiying tme of the
panmage?
fe] ~Orily an edueated population can

besl make use of the benefits of
economic progress.

All sconomic development should
pe-aimed at the creation of leinun,
An  increase n the ediocaled
population of & country leads to
an ncreane in the happiness of
itw peopie

(Hee  of  moachines ashould be

encoUrmed N order o drembe

a licege lainured popiiistion.

)

VGYH-D-C5T/48A

Pamange—21

"Fﬂ.lﬂﬂil'll‘[il'l&ﬂﬂ'ﬂ‘m{!ﬂ‘_lhlmm
grown up, perhaps it is because we have oo
much already; or perhaps it is becnuse we have
lost the fullness of the joy of giving, and with
it the fullnesu of the joy of recelving. Childem's
fears are poignant, their misories are scile,
but they <o not leok too furward nor too fer
backward, Their jove are clawr and complels,
becaviae they have nat yet leamnt always to add
‘hut® to every propositon. Perhaps we are too
emutious, foo anxious, too sceptical. Perhaps
some of our cares would shrink i we thought
less about them and entered with 1poe single
minded enjoyment inte the happimewss thar
come pur way.

52. With telerence o the phssage, which one
of the following stateements ls correct?

fe) It ia not possible for adults to feel
thrilied by presents.

i) ‘There can bie mare thin one ronsin
why oadults fesl less theilled by
presenta.

fej The muthor does not know why

ndulty fnel iosa thrilled by presenta.

fef) Adults have less capacity to feel
the joy of Joving or being loved.

R



53. T s w7 St e foes ¥ 65, T% wwn-smaris e b, few g oaeas R
bufeem wiipm dem (Fr) M fd 1@y

faj i i wfim & o § s fem aw 3w 81w s dwn A s TR W
bt it Wil B ol aR R mER A Y ®

el & sis] & g sr.domn 2 W oE R
fh) TIER & oW R A AR § iy

g wigwen T wamn # = W Rier o
w0 e R
fu 7 Sl & e 5
fa) &
fd) e il w0 § W A w0 w
fbj 8
84, =7 HifW A, 83w cvEm § oA e st S
W Brefn w2 3w A, Bl o R, i
fien ol siw 9 gom wim fikn, o 3-3%
W i s e wwn 2y for 12
Fommitafier et w1 irm i .
I x%4-5dm AW A 1332 4 s6, = 7 W - @ W A g hn
! LN fogdl 5t ol o ==t == yE A TR
2. xE 3-3EN aEw WEBES B .: BN
TR[E A W e R
fa)’ 24
fiy W)
b W 2 B\ A0
ey 1 s 2 EAE e 12
dy A1 dmadhz fdy &

VGYH-D-CST/46A az



83, The author of the passage in ngrinst BE. There = m numerc Jock which Thas
o 3-digit FIN. The FIN contsita digits

fa) worrying the much about the past 1 to 7. There is no ropetition of. digits.
and future The digits i the PIN from left to right
are i deécrensing arder. Any two digits
: in the PIN diifer by at least 2. How many

Belrig 1| of
2 m‘:hﬁ;m: BRWIRf hinisog shout maximum atiempts dosa one need Lo

find aut the FIN with certninty?

k) nat belig thrilled by new things

fal &
i} pving and receiving ey only
& 8
54. Let A, B and C represent dintingt non. fet 10
zzro digits. Suppoes x le the wum of
all possible 3-digit numbers formed by
A. B and C without repetition. fol) 12
Conwider the following statements :
1, The4-digit least vatue of x i 1332, 88, There are night equidistant polnts op
. n chele How many right-angled
2 The 3-digit greatest value of x triangles cen be drawn using these
Is BBE, paints; an verticem and  iaking the

. dismoter as one mide of the triangle?
Which of the sbove siatements |s/;re

CorTnee

o) 24
fi) Inni}'l

) 16
k) 2 only
() Bath 1 and 2 Ll
fd) Neither | nor 2 fdi &

YGYH-D-CS5T/46A 33 | RT.G.



§7. 24 7 W 12wyt vw w30 =R

un ww w12 g S ae e s
win %) e e | e

w30

of 308 wins
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it & e S o e e
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B7. 24 men and I'ﬂ'l'ﬂl'mt:l‘l‘l-d.rrtptpncﬂf

wark i1 30 daye In how many days ean
12 man and 24 women da the same
ploce of work™

et 30 duys
), More than 30 daye

o) Less than 30 days or more 1han
40 elayn

fdl Date is imadeguate 10 diaw any
enmeliiaban

BB. Whit ls the remiinder when

G020 %04 x05x 6 x 9T xO8 99

i civided by 12617

fal 3

w2

w1

) 0

VOYH-D-CST/46A

59. Conalder the fRllowing winisments tn

respect of a rectangulnr sheet of lemgth
20 cm and tueadth B omo;

LIt s possible o diif the shest
i Erots ' st MM

2. 1 is possible to cut the sheet mis
10 trangular sheets of squni aren.

Which of the above atalements iafare
rOfTect?

fa} 1 only

) 2 only
el Both 1 and 2

) Meither 1 nor 2

60. When 70% of & number x s added o

another number 5 the sum becomes
165% of the wlue of 5 When 60% of
the rumber = i added io another
number &, then the sum becomes 1655
of the wmiue of =2 Which one of the:
following 18 correct?

E<x<y
J.{F{.'l

Yyex<e

&8 & E E

Fxgex

[PTO
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Directions for the fellowing 3 (thres) tems
Head the foliowing two passages snd anwwer
the ltems (hal fullow the passages Your
annwess o these Hema aboidd  be based an
Hhe passagos ondy,

Pdsge=i
The majorily of prople who fafl to secumulate
money sullicient for thelr nedds, are génerally,
ensily influenced by the opinions of others.
Thiey permit the newnpapers and the gaesiping
ntighbours o do their thinking for them,
Optnions are the cheapest commudities on the
earth. Everyone hus & flock of opinkons ready
to be winhed Upon by anyone whe will acespt
them, If you ate influenced b apinions when
you resch decigions, vou will not succeed in
eny undertaking

61. Which ane af the lallowing bs knplisd by

the pansige?

fa) Most of the people do not
sorumiliate monky for their needs

(&) Modt of the people tever il 1o
Ecciimulnts money folf their neeilal

fe} Thete are people wha il w
neeumlnte money e thelr needa

fef} Thete is no peed to mccumulste
munsy, '

62. What is the main iidea of the prrsags?
| People ahould not be inlluenced by
the opinkons’ of athnm.
i) Peopls should sccumulate ma much
muiey an they can,

el Prople should neither ghve nor

~ asorpt the opinians.

ff People will avcoeed o mny
undertaking if they do npt nocept
any opinion at all

VOYH-D-CST/46A

Pasange—2

“The social order s a pagred. right sthich is the
tuin of all uther righin. Neverthelean, this right
doew nnt come from nature, and must therefone
be founded on conventione,®

63, With reference. to the above pansage,
which of the following statements is/are
correct?.

1. Convenbtions are the solirees of
righte of man,

2. Rights of man can be exeroiwed anby
when there 'in 8 soclil acder

Select the cortect muswer Unliyp the code
fay 1 only

) 2 only

e Both 1 and 2

] Melther | nor 2

64. Two candidates X end V contested an
clectibn. BO% of votern cant thoir vole
and there were no invalid votes. There
wna no NOTA [None of the above| option,
X pot 56% of the voles cast and wom
by 1440 votes. What is the totisl number
of vaters in the voters [int?

fa) 15000
b} 12000
fel DE00

(i) 3000

| P10,
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65. What im the pmallest pumber greater

Ihl.'n 1000 that when divided by miy ome
of the nitmbets 6, 9, 12, 15, 18 leaves
# remainder of 37

) 1063
My, 1073
e 1083
iy 1183

68, lel pbe a twp-dight stmber and g be

the number cunainting of dame digils
writien m reverse order. |f px g= 2430,
then what in the difference betwesn
poand g?

i) 45
M 27
f 18
M 89

&67. Conmxler the foflowing stalemeonis in

mapect of two natural mumbare p and g
suth that pisa prime nimber and g is
a compotite numbar

L prgeoan be an odd numbar.
2. g/pesn be n prime nurnber.
3  p=gcan be i prme aumber

Which of the above statements arc
3

fal 1 oand:2 only
2 and 3 only
el 1oand 3 only
il 1, 2 and 3

VGYH-D-CST/46A

68. Conmider the following sintements ;

1. Betwesn 316 p.n. snd 317 'p.m,,

hoth hour hand and oorare hacd
coincids,

4. Berween 4:358 pom. nnd 459 pom,,
‘both. mirate hand and eecond
band eoinehle,

Which of the Wbove statsments isfire

corTECt?

fr) 1 oy

fb) 2 only

[e) 'Both b mnd 3

fd) Neither 1 nor 2

&9, Thie Ere twd containem X and Y.

A conmine 00 mi of milk and
¥ outtmine 100 mi of water. 30 ml of
milk from X i transfered te V. After
miciing well, 300 mil of 'the indstuiee b ¥l
tranuferred back o X I m denotes the
preportion of milk in X and n denates
the propoartion of waler in ¥, then which
one of the [ollowing Is torredt?

fa) m=n

) m=n

e m«<n

id) Cannot be determined due to
insuMcient duta

T0. A ple chart gives the expenditure on five

different fiema A, B O D and E in
a hounehold. i & C, Pand E correspond
1w 90%, 507, 45° and 75" respectively,
then | what ' 1 the percentage ol
expenditure on item A? '

1132 25

5 =5

/ 155 250

| —— —
f & fetd e

| BTO,
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Directiona for the following 3 (thres) ltemna :
Redd the Fallowing two passages and arnwwer
the llerns that follsw the pessuges,  Your
answers to these iteais should be biesd on
the prssapes crly,

Passage—1

To encoumpe reasarch s one of the functions
of n univernify, Contomporary unieraitics have
tnerarmEd research, Aot only n thone caoen
where resesrch is necesaary, but on all sorts
of entirely unprofitable  siibjects as  well
Belentific ronearch is prohably never completaly
valusless. Howsver silly and signifieant |t may
seem, however mechanieal and  uniptelligent
the labours of the rescarchers, there is alomys
s chance that the reaults may be of velus o
the investigaror of talant, winr can use the fazts
colléuted for him by uninspired bul mdustrious
resenrchorm s the bhsia of bome fnaiiful
generalisation’ But Whefe resesrch {8 not
‘original, but conslsts  In the mere
renrmangoment of existing nmtanuh, where iz
phject In not scientific but litemry or hislorical,
then thern In n rak of the whole buwmess
becoming meraly futile

TL. The aulbir's sssumption aboul scleniilic
reseurch in that
it in never vy voaluable

il i somotimen yery valunhin

il W pover without some value

E E 22

i in vy very vilusble

VGYH-D-CST/46A
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T2. According to the authar

fa) not many resenrch resulta ean be &f
valoe 1 an intelligent frrestigator
o renearoh rewult i always srluabls
o nn intelligent investizator
fr) amy resesrch esult can be of valoe
to an inteligent investiguios
b feaeurich result must slenys be
of some valie o a5 Intelligen
inveatipntor

- st
How best can the problema of floods and
drughin be addresnod a0 that the losses are

]

minimal atid the system becomes resifient?

In this sontext, ane impartant point that needy
1o be noted b that India gets Too mich' waler
fabout 75% af annual precipitation) during
120 dayn [June to September) and Yoo Lrde’ for
the remeining 245 dayw. Thin skewed water
arwilability has to be minaged and regulited
for Its consumption throtghout the year,

73. Wiiich' oite of ihe follswing best reflects
the practical, mtoonl and  lasting
solution?

o), Constructing huge concrete storugs
tanks =nd canals across  the
etiuntry

Chenging the cropping patierns
and farming prctces

Intedlinking  of rivers poross Wi
eolntry

Buffer atocking of water throkgh
dama and rechargitie aguifers

1]

frd

[PT.0L



74, Wi T8, i w9 e e

15 14 x5~k 3dx2x]l=3" un 0, ST Ty wan o e f
il m AW 0 G T ¥, T om
w5 B fla} oS T
) 7 () e A
. 6
fe) 5 fe} S A
) 4

ef) Tl =i Hwnen A
75. SFA 2, 12, 36, 80, 150, X X o5

w41
fal 248 79. 0-X¥ =5 W T wewd oo ox alw v
M) 252 fom wrm == B
fo) 254
i) 263 fof 72
76. TF TEIGL A, sEE Wi @ T e fb 81
T v (e A) e W ow e
o o = A W ol fi) G0
== W owEn 0 e e s
e b7 fd) 100
fal 105
& ::;. BO. A, B, C3i S Wit 40 ke ¥ B, D, E W
oy 4 st 42 kg b s FR vt BRI &
1050 oA Fl A, B, €, D, £ pow ol
7. oll o 9 vl e T Gl
S et bt Wi R S A M e P
B 6 a3 v by 3 T A wm b v ol
Tt wwm @ v s v w we @ Fe o _
i & WA O = W e R b} 408 kn
) 18 L s b
i) 27 |
1 54 ) it =@ fow wm ww =i e
[d} 81 oty -
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LR

18x ]9 x 13— wdxDxwl=3"nn
whore v and n arc’ positive intogers,
theon what la the inssimum valie of i
@ T
i 6
fe) 3
] &

7. Whil s the walune of X in the sequetce

& 14, 364, 80, 150, X7F
fa) 248
) 252
/) 258
() 262

T6. One non-zero digt, one vowel and one

connonant from ' English alptmbet - (in
caplial] we to be uwsed In Jorming
pasdwerds, such that each pasnword
ham to slart with a vewel and end
with a conmonant; How many ouch
passwords can be penerated?

fa) 105

Mt 535

{4l TS

i 1050

7. There are 9 cups pliced on & tubie

arranped in equal sumber of rows and
ealumnn out of whith 6 rups eotilain
coffee and 3 cups contain lea. In how
many waye can they be amanged so
that each row should contaln st least
one cup of eaffes? . '
fa) 1E

by 2%

et 54

fel) &1

VOYH-D-CAT/46A

78, The sum of thres cansecutive inngers in

equal to their prodict. How many such
posnibiliiies usa thera?

@i Only one

Wb} Oy two

fel  Gmly three

(i Mo such possibility s there

9. What iy the number of numibers of the

form 0- XY, where X and ¥ are dimtinct
non-gere digita?

fa) 72
(bl 81
fe o0

) 100

80, The average welght of A H C is 40 kg,

the average weight of B D, E s 42 kg
und the woight of F is equal to that of B

What is the sverags weight of A, 8 G
D, K gnd ¥2

fa) 40°5 Mg
B 408 kg
) 41 e

(d} Ceiinot be détrrmined as dein is
inadequate

(BT.0.
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